H £ 0l & AF & S

Al A

A ADESYL
Hu: DRI SM2 MADIE DS
Cel: DicHse & D|gHes (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AMtEESH 541,345,408 570,019,271 28,673,863
= 37,037,326
[ 9,692,622
Jl 409,125,999
< 65,489,461
H 20,000,000
LEE SthE gt 2= 541,274,428 569,955,231 28,680,803
= 37,037,326
s 9,692,622
Il 409,125,999
= 65,418,481
H 20,000,000
Olchsg Mt Jlests 35,561,000 74,380,000 /38,819,000
= 7,280,000
== 8,281,000
H 20,000,000
ADIERUER Dzl 316,000 0 316,000
= 280,000
[ 36,000
403 MR HHMSAHE01H 316,000 0 316,000
= 280,000
S 36,000
01 A= E2XE 316,000 0 316,000
OADIEAUSAl Jlgtxd 316,000
= 280,000
= 36,000
A0EE Sl &4 20,820,000 64,295,000 A\43,475,000
= 820,000
H 20,000,000
201 Ler23| 20,000 20,000
01 At2teltl 20,000 20,000
OANIE® 33 243 A& 20,000
403 MR HSAHE01H 20,800,000 64,275,000 243,475,000
=S 800,000
H 20,000,000
01 HXIHHA 22X 20,800,000 64,275,000 43,475,000
Osgd ANEY =gHA &4 20,800,000
[ 800,000
H 20,000,000
A0EY B 6,525,000 6,525,000
403 X SHHMSAH=01H 6,525,000 6,525,000
01 A= 2L 6,525,000 6,525,000
OEHAEE ANEE X& 4,725,000
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A ADESYL
33 IFE sits dabje 5
R A" HEH dab(g 15 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| | 9,000
SUAXEH HEH X2 (A2Z4) 1,387,900 1,387,900 0
Jl 1,387,900
308 AXIMSOIA 1,387,900 1,387,900 0
) 1,387,900
01 AXEH B2 LS 1,387,900 1,387,900 0
OSAASHMELAIUIXNA 114,700
Il 114,700
OSAXEMAIE =& HFH| X& 1,273,200
7l 1,273,200
HEE SANEN 9,300,000 9,300,000 0
Il 9,300,000
308 XXM SOIA 9,300,000 9,300,000 0
Jl 9,300,000
01 AXEH B EES 9,300,000 9,300,000 0
O A=HEN 9,300,000
7l 9,300,000
s&= JIgAIE &5 2,385,685 1,799,420 586,265
403 AXIEHHSAH=201H 2,385,685 1,799,420 586,265
01 XA =22 E 2,385,685 1,799,420 586,265
OAlgty XIHStEE AMY 2,385,685
SIHSUAY FaX 201 A5 sI1H K2 1,500,000 910,000 590,000
= 1,000,000
== 500,000
403 X MSXH=01H 1,500,000 910,000 590,000
= 1,000,000
[ 500,000
01 MXIHHA =222 1,500,000 910,000 590,000
OZF&HA 20 H 8 sIIAH X 1,500,000
= 1,000,000
= 500,000
SO HLUAIY sIHYUAMSE A KR 2,025,000 1,560,000 465,000
= 1,350,000
= 675,000
403 XM SAH=01H 2,025,000 1,560,000 465,000
= 1,350,000
== 675,000
01 A= 2L 2,025,000 1,560,000 465,000
OsIIALUAIE A K& 2,025,000
= 1,350,000
< 675,000
SIHSUAME ==sI1H UM XI& 1,470,000 1,040,000 430,000




A ADESYL
Hu: DI SM2 MADIE DS
R A" HEH dab(g 15 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 980,000
=S 490,000
403 AXIEHHSAH=0I 1,470,000 1,040,000 430,000
= 980,000
== 490,000
01 A= 2L 1,470,000 1,040,000 430,000
C2SIIAUAH X&H 1,050,000
= 700,000
& 360,000
OZsR4t2 Il FLXH 420,000
= 280,000
= 140,000
SIASHER 2R 185,150 185,150 0
= 107,000
== 48,150
403 AXIEHMSAH=0ld 185,150 185,150 0
= 107,000
< 48,150
01 AXIHHA=2 2L 155,150 185,150 0
OsJIASSHEX =& & 165,150
= 107,000
= 48,150
MENSESSIINFTY nsALE A 260,400 260,400 0
= 210,000
=S 50,400
308 XXM SOIA 260,400 260,400 0
= 210,000
< 50,400
01 XN BSEES 260,400 260,400 0
OMNEHN=ESSIEM uszaEE X2 260,400
= 210,000
= 50,400
AYH=SSIEN=Y AEEH XNE 930,000 930,000 0
= 750,000
= 180,000
403 X SHMSAH=01H 930,000 930,000 0
= 750,000
s 180,000
01 AXISHHA =2 & 930,000 930,000 0
OAMgHN=SSIEM ALEH N 930,000
= 750,000
[ 180,000
AMNENESSIENEY ML=2a X2 2,081,040 2,081,040 0

~
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A ADESYL
Hu: DI SM2 MADIE DS
R A" HEH dab(g 15 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,600,800
=S 480,240
403 AXIEHHSAH=0I 2,081,040 2,081,040 0
= 1,600,800
== 480,240
01 AXISHHA 22 % 2,081,040 2,081,040 0
OrEH=ZSZ M ArgLH2et X2 2,081,040
= 1,600,800
& 480,240
SN SN WSsHLE K& 154,380 154,380 0
= 124,500
= 29,880
308 XX HMSO0IA 154,380 154,380 0
= 124,500
=S 29,880
01 XN B2 LS 154,380 154,380 0
O=0LHMEXNBIH WsHEE X2 154,380
= 124,500
[ 29,880
SR EAMHNZEH AIEEH X3 974,640 974,640 0
= 786,000
= 188,640
403 AXIEHHSAH=201d 974,640 974,640 0
= 786,000
= 188,640
01 AR A =2 £ 974,640 974,640 0
O=MLSMETBEM AILEH A= 974,640
= 786,000
== 188,640
SO MAHNZSH AZMEANE KA 884,000 884,000 0
= 680,000
= 204,000
403 AXIEHMSA=Z01d 884,000 884,000 0
= 680,000
= 204,000
01 AXEHM A =2 £ 884,000 884,000 0
O=LMMARBSH AZMEAIE X2 884,000
= 680,000
= 204,000
AlgAE otg A dak X3 877,500 1,013,800 136,300
307 elztol & 84,000 94,000 10,000
02 2IZHBYAIHE A 23,000 23,000 0
Ot 2= Xd 13,000




A ADESYL
33 IFE sits dabje 5
R A" HEH dab(g 15 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=HEd3X AgHst U= 10,000
04 CIZHHAMAMH 2 & 61,000 71,000 10,000
o#dgs |4 51,000
Os8d3M =4 10,000
308 XXM SOIH 58,500 49,800 8,700
01 AX N B2 LS 58,500 49,800 8,700
OrMgs MEES AH 58,500
403 X SHHMSAH=01H 735,000 870,000 135,000
01 AXISHHA =2 £ 735,000 870,000 A135,000
Osgs fags)| XN 315,000
Oot=d sgddl N2 300,000
O= et&E Jlgh x4 120,000
AMEAE Mo 22 X 518,637 990,810 A472,173
403 AXIEHHSAH=201H 518,637 740,910 N222,273
01 AR A =2 £ 518,637 740,910 N222,273
AMYEE o 22 XA (ALEH]) 518,637
2 s ZJIHEX X 2,783,300 2,783,300 0
= 2,141,000
[ 642,300
308 AXIHS0IA 2,783,300 2,783,300 0
= 2,141,000
= 642,300
01 HAHHBSEXS 2,783,300 2,783,300 0
OL= =8I[A Z=IIHX X2 2,783,300
= 2,141,000
= 642,300
NEHA B =222 936,000 79,000 857,000
= 720,000
== 216,000
403 MR HHMSAH=01H 936,000 79,000 857,000
= 720,000
[ 216,000
01 MXIHHA 22 936,000 79,000 857,000
ONEA H ==2cIHsS2U K& 936,000
= 720,000
= 216,000
g HAHIxd WsALE N2 334,800 334,800 0
= 270,000
= 64,800
308 XXM SO0IH 334,800 334,800 0
= 270,000
== 64,800

»
|




A ADESYL
Hu: DED SA2 MAD|
Rl A" OHEH WA (Gt H2)
SA - ZE - BR(30) - HRA - B of v e HIDE2
01 AXSHHB 2L 334,800 334,800 0
(OPJE g~ Fi= IN 334,800
= 270,000
< 64,800
e A xd 2,716,840 2,716,840 0
= 2,191,000
= 525,840
403 AXIEHHSAH=201H 2,716,840 2,716,840 0
= 2,191,000
= 525,840
01 AR A =2 £ 2,716,840 2,716,840 0
(OPJEL" gE:Fgs NE 2,716,840
= 2,191,000
s 525,840
MNEtA = T2 AIHAY 2,373,000 0 2,373,000
) 2,373,000
308 XtXIEMSO0IE 2,373,000 0 2,373,000
Il 2,373,000
01 HAHHBAEXS 2,373,000 0 2,373,000
OMEA =& T2 703 AIEAIY 2,373,000
Il 2,373,000
NEE SN AHIS 7,005,940 6,866,850 139,090
= 3,805,600
= 3,200,340
=2l (XIXHM) RIR( 58,000 58,000 0
= 58,000
201 Let=23 | 40,000 40,000 0
= 40,000
01 AtR2t2lt] 40,000 40,000 0
Og=ac| ditzd 32,800
= 32,800
Og=acl Sl 7,200
= 7,200
202 04| 18,000 18,000 0
= 18,000
01 =LHA LI 18,000 18,000 0
Og=dc| g2 18,000
= 18,000
L[ 2A2IHI(XIREA) K2 (Al 47,500 2,432,500 22,385,000
= 47,500
308 AFARIEHMSOIE 47,500 2,432,500 A2,385,000
= 47,500
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SH: ADES}
I DEI SN2 M| 25
el USE Sty AHIEN I8 = (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
|| Ozzgzzc o zuw 29 80,000
ZUSE Ma|g Ald &= 16,973,662 16,722,154 251,508
= 2,350,160
Jl 4,133,899
= 10,489,603
=dAAIE SlE XA 763,570 388,600 374,970
Jl 526,600
< 236,970
403 MR HHMSAHE01H 763,570 388,600 374,970
) 526,600
< 236,970
01 MXIHHA 22X 763,570 388,600 374,970
Ol NEE AMEslzt 763,570
Il 526,600
= 236,970
FIAAMFZHIE =8 & 2eld] XI& 38,000 45,000 A7,000
Il 38,000
202 048l 4,000 4,500 A500
Il 4,000
04 =NISt01] 4,000 4,500 A500
OFTAHES ThS ST Darel MEIEAL 4,000
Jl 4,000
307 elztol & 6,000 6,000 0
Il 6,000
02 QB AANEE R 6,000 6,000 0
OFTA IS MR =8 & 22l 6,000
Jl 6,000
308 XX EHHIS 01 28,000 34,500 £6,500
Il 28,000
01 XN B2 LS 28,000 34,500 26,500
OFTIIZ ARZIE 48 2 22IBI(AZZ4) 28,000
Jl 28,000
s s H==2oisIt X 600,831 1,222,470 A621,639
403 X SHMSAH=01H 600,831 1,222,470 A621,639
01 REXIEHRIAt2 2 2 600,831 1,222,470 621,639
O+ BS54 333,79
OUH=E AEN2MELL €X 267,036
AE30sthat X3 819,426 567,713 251,713
Il 602,519
= 216,907
403 AXIEHHSA=201E 819,426 567,713 251,713
Jl 602,519




BA: ADIES

Q
]

Hu: DEI SM2 MADIE DS
&2l JOSE MAD|EE AL &F (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 216,907
01 MXIHHA 22 819,426 567,713 251,713
OAlZ 30l Btiat S& KA 750,932
Il 552,156
= 198,776
Ot EHHES |Y 68,494
Jl 50,363
=S 18,131
HO=0F ICT 8= N 2,301,557 815,353 1,486,204
) 1,596,630
< 704,927
403 MR EHHSAHE01H 2,301,557 815,353 1,486,204
Il 1,596,630
= 704,927
01 XA =2 E 2,301,557 815,353 1,486,204
OICT E=28 ANIER ANEES 204,857
7l 150,630
= 54,227
OADIEE 24 tDi= 2,006,700
Jl 1,446,000
< 650,700
SE20F HUXIZEZAIE XI& 1,024,284 1,363,347 339,063
Il 753,150
= 271,134
403 AXIEHHSAH=201H 1,024,284 1,363,347 A339,063
7l 753,150
= 27,134
01 AR A =2 £ 1,024,284 1,363,347 A\339,063
OAE0 UK 22 Al 1,024,284
Il 753,150
s 271,134
SS20F AHYAHKIAIE X2 2,636,814 2,147,121 489,693
= 2,195,160
= 441,654
403 AXIEHMSA=Z0l1d 2,636,814 2,147,121 489,693
= 2,195,160
= 441,654
01 XIS A =2 2,636,814 2,147 121 489,693
OXgdgAld &4x K& 459,862
= 418,056
= 41,806
O3JI2deHAld X3 2,176,952
= 1,777,104




M A

33 IFE site daje 25
R EUSH dADE Al &5 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| & 399,848
OFHIDIE MBiAIE K& 513,300 562,600 49,300
Jl 354,000
= 159,300
403 THXI M SAH=01H 513,300 562,600 249,300
7l 354,000
=S 159,300
01 A= 2L 513,300 562,600 /49,300
O1= HIIHE MEHAIE XI& 513,300
Jl 354,000
< 159,300
AEA DSE HAAE &E 893,600 760,000 133,600
403 AXIEHMSA=Z01d 893,600 760,000 133,600
01 AXISHA=2 22X 893,600 760,000 133,600
OdNSEH=2 4ot g 22 893,600
HoA=E 3d= 2t 5,109,530 6,102,750 A993,220
403 AMXIEHMS X201 5,109,530 5,178,750 269,220
01 AR A =2 £ 5,109,530 5,178,750 269,220
OdMa= A=ty X2 935,880
OMr=S RYA= 2= |54 N2 288,000
OOt=MbisIt S5 X3 At 127,500
OSSR NSAREE 3,758,150
NSESE A& & +=SAEXE 255,000 255,000 0
403 THXISHMSAH=01H 255,000 255,000
01 AXISHHA=2EE 255,000 255,000
O3tsll At ZBHSH A5} 255,000
MessHARS(M2sSXe) (XIEH) 99,000 97,644 1,35
Jl 66,000
[ 33,000
403 AXIEHMSA=0ld 99,000 97,644 1,356
) 66,000
= 33,000
01 MHXIHHA 222 99,000 97,644 1,35
Odllsttz M2+t Xa 99,000
Il 66,000
= 33,000
LHESSISHMSEXNA(XXIEH) 93,000 0 93,000
= 75,000
== 18,000
403 MR HHMSAH=01H 93,000 0 93,000
= 75,000
< 18,000

_11_




M A

W DEI S ML)
Rl EUSE dae Al EER=E)
K- BE - RI(EH) - HRAR - B A HIDEZ
01 XX S22 = 93,000 0 93,000
Ogxs 3539 93,000
2 75,000
[ 18,000
ARMAOHE TR (2 573,300 573,300 0
308 XIXISHKI SOl 573,300 573,300
01 AIXISHHBABES 573,300 573,300
OMAFHAMOIHX| & 573,300
SME IR 2 S3AETA 160,000 332,500 A 172,500
308 XFXISHHIS 01 160,000 332,500 A172,500
01 X SHHBAEES 160,000 332,500 172,500
OFQs4te J1oky X2 160,000
EXZ2 ALSUE XA (HA) 285,650 532,150 A246,500
p] 197,000
= 88,650
403 KX S SXH20IH 285,650 532,150 248,500
Il 197,000
== 88,650
01 XXISHHIAH2 2 = 285,650 532,150 246,500
OSSX2 ALBUE X (HA, 248) 285,650
pJ 197,000
== 88,650
LR FAK| 3 HY 160,000 0 160,000
2 80,000
= 80,000
201 Yer2% | 101,000 0 101,000
2 50,500
= 50,500
01 Al 2t2iH 101,000 0 101,000
OERE FAX HBEHA & 101,000
= 50,500
== 50,500
307 QI2+0I A 59,000 0 59,000
2 29,500
= 29,500
02 QI AAIR B 59,000 0 59,000
OgRZ FAXE 59,000
2 29,500
[ 29,500
EAK2E JANEES MK 646,800 646,800
308 XIXISHHI SOl 646,800 646,800
01 AIXSHHBABES 646,800 646,800




M A

M DEY A2 MDD 2
R EUSH dADE Al &5 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| OSAR2S f0IXE MK 646,800
EEEEPIEE 52,286,474 53,009,647 AT23,173
= 9,191,266
= 9,692,622
Jl 2,669,200
= 30,743,386
sAE PN 28F X (IEEXY) 23,708,480 19,340,900 4,367,580
308 AXIHMSOIA 23,708,480 19,340,900 4,367,580
01 XSS LExS 23,708,480 19,340,900 4,367,580
Osgoletd ol 28 X 1,360,200
O=JEe e g 1,170,900
Os&H=Mai=2e N 21,177,380
BT HHX2 ORI 344,286 294,000 50,286
307 212401 M 344,286 294,000 50,286
B OIXtEES 344,286 294,000 50,286
OMBHCHR AAXZ 01NN 344,286
a1 PN RPN 441,992 441,992 0
= 304,822
= 137,170
308 ARISHMSOIE 441,992 441,992 0
= 304,822
= 137,170
01 MASHBLEERS 441,992 441,992 0
OFRIISSAM K& 441,992
= 304,822
= 137,170
E2NEH X3 11,777,000 13,015,124 21,238,124
= 9,104,000
&= 2,673,000
308 XXM SOIA 11,777,000 13,015,124 21,238,124
2 9,104,000
= 2,673,000
PR == 11,777,000 13,015, 124 1,288, 124
O=IHEtm X 11,777,000
fas 9,104,000
= 2,673,000
RSP TONEETTEES 90,300 380,000 £1289,700
Jl 60,200
= 30,100
403 MRS AE01H 90,300 380,000 /289,700
l 60,200
&= 30,100




A ADESYL
33 IFE sits daje 25
el dEdsgolel &4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AXISHHA =22 & 90,300 380,000 289,700
Ozl EHI oAl Tzt 90,300
Jl 60,200
< 30,100
detgdsgile+s 425,700 1,134,000 A708,300
[ 283,800
= 141,900
403 AXIEHHSAH=201H 425,700 1,134,000 A708,300
[ 283,800
= 141,900
01 AR A =2 £ 425,700 1,134,000 A708,300
Ozletd=sgl|et= 425,700
s 283,800
s 141,900
g JtHerd XN& 10,669,519 10,669,519 0
= 8,891,266
S 1,778,253
308 AtXIEHMSOIE 10,669,519 10,669,519 0
= 8,891,266
= 1,778,253
01 AXEHBSEES 10,669,519 10,669,519 0
OHlg Jtzetd X3 10,669,519
= 8,891,266
= 1,778,253
SYHEZEd T2 390,000 390,000 0
= 300,000
[ 90,000
308 AIXIHHISOIA 390,000 390,000 0
= 300,000
= 90,000
01 HASHHBSEXS 390,000 390,000 0
Osgedgd T2 18 390,000
= 300,000
= 90,000
detdsy =8 43t 106,400 267,600 A161,200
307 lztol & 20,000 30,000 10,000
04 QIZHHAMAIRH 2 & 20,000 30,000 10,000
Ozlgdstts A=l K& 20,000
308 AXIHSO0IA 86,400 195,600 /109,200
01 HAHHBAEES 86,400 195,600 109,200
Oratd3sdts 82 UBE A& 86,400
MEtdsy elxe 25 1,186,997 915,497 271,500
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